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Q1}]...[15 points] Let f(z) be a function of z whose domain is all real numbers. Consider the
following expression.
f(z) — f(2)

z—2
What is this expression called?

THIS 1S cALLED A  DIFFERENCE  QuOTIENT

Write down two interpretations of this expression.
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Q2]. .. [20 points] For each of the two functions below, write down the domain, the range and

sketch the graph of the function.
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Q3]... [20 points] Compute the following limit. Show all the steps of your work.

1 1

lig 22
o w oo Lin (3 =X } L)
~on \ﬁﬁu/‘\\ = X9 & /)<‘~q |
s o
é/‘ (‘G\l’éﬁ)
1 :(\fi—ﬁ>(&_€+ﬁ§
\
L [GE
=35 Tqs Go@s)|

[ -t

9 | (X (ﬁﬂbWT

—"

AR (@ &)

|
|

24 3) -

-~

Sy



!
Q4]. .. [20 points] Compute the following limit. Show all the steps of your work. i\
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Q5]. .. [15 points] Find the value of ¢ which makes the following function continuous. Show the

details of your reasoning. Keep in mind that the steps of your argument (how you arrived at a
value for ¢) are more important than the actual value of c.

f(z) = 2z +4 for <1
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Q6]. . . [10 points] Suppose that sin(6) = 3/5 and that 7/2 < § < «. Find the values of cos(f)
and of tan(d). Show the details of your work.
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